EARAROBEEIERT — 2 N— IBISH —F

2013518278 (B) 2E=#R2H

R Xl

REEF Hin

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N R FlE—EB :27. - . . HEAE (ER)
g [ xrvamPare "3 e M R Rl B I 6 o
LY/ by THY B:FeT7N-X BORYUS
5= 2 - = HERR :27. - . . PHTTE (R
2 5 FaY2554 4 3 =i 1(12/72>2 1-1 38.0| 84.5 | 2 422)2 DT
LY RKYTYRXIR B:H—Fy hRE— HET77—L
or se—ia > E 4T . = 58 (FR)
3|5l | B/ VTLITLH B3l (11'237/3 e .8 820 4 ?_720) W%é
LY h—> BAINTHFI- FEHIS
ST S 4 3 | FHEEZ 1:27.5 9-8 37.6| 82.0 | 6 558 | &M= (RX)
7Y 6 EIAREAAR R 5.0 (75%) © ") oo
R:FaSHN BTk IS T —H5
. N IVRK :27. —~ . . FEBE (EXR)
5 10| 7ET A ¥y 4 3 o 1(/727t§3 7-6 37.8| 8.0 | 3 (4&2) TEE
RixALIZTy7—R BAYTq—= ke
S = 43 | dtRR— 1:27.6 11-10 |37.2| 81.2 | 8 436 | EBEE (EX)
[ > ARG 56.0 (172) -2) ) TANT AT
LT RIAYRY B:Faut—H—F R4S
= t 3 | fEKtE— 1:28.1 4-6 38.5| 76.3 | 1 502 | EARE— (BH)
d : PAEASLF2d g 56.0 3) (-a) () HAL— 24—z
LN=Y7514 B: T4 LF2 N~ ERT7—L
N . . 4 3 | REREX 1:28.5 2-2 39.1| 72.3 | 9 496 | BREHPABA (ER)
sl 9 13 "?"j'/jj/ 56.0 (2 1/2) +2) AARGFIE
R:v>NyBHhTT BiHILHYY— 18R
5 . . # o3 | FARHER 1:28.6 4-4 39.0 | 71.7 | 11 484 | BARE (EH)
9710 FITvFa Tt .0 (172 Ly |BER
LHIRT A GTR BREZ— kLAY +H B
S N 4 3 | ESEE 1:28.7 13-12 | 37.7| 71.4 | 12 | 446 |%EXE (FR)
1002 |11| ¥ T IINRY 5.0 @/4) o) | FEE
R:7RY( Y3y 72 B:OAXEF+v>T12R EviJlLy KT7—L4
;S 4 3 | HE—H 1:29.0 11-13 | 38.5| 68.9 | 13 | 508 |ALHIEA (=)
EH 3|7x17-Fz 56.0 (1 3/4) 6 | (B) =metum
LiAA 3T R=— BALI3INIINT R #EH+FH
SN 3 | JIIEEHE 1:29.4 9-10 39.3| 653 | 7 454 | GHRE— (BR)
12/ 8|13 Ev PEN=F 56.0 2 1/2) (<) | HIER
L:Urh—> B:OSHIS [ELAIEIIES
“ C= so3 | EHE 1:32.9 2-2 43.6| 44.6 | 10 | 446 |HEFIEF (ER)
13|51 7 SHY)INT 1 — 54.0 (21 4) (-2) hIEEL
LT RIA VL= BIUHLTF—L i G
@ 71 L
) 50.6-37.9
NA 24 L | 12.7-11.4-12.4-12.7-12.8-12.4-12.7
@ 1—F—@&BIEf
12—7—
23—7F—
3a—F— | 5(7,9)(1,4,10) (6,12) (8,13)-(3,2)-11
43—3+— | 5(7,9) (1,10) (4,12) (6,8)-(2,13)-11,3
[ RN
B OB 1 1,120 714K 1-5 1,080M e & 1-4 1,020 &R 1-5-6 10,610
8 B 1 340H 1-6 1,800M B & 1=5 3,500/ 3B 1-5-6 64,360
5 210H 5-6 580M B H 1-5 5,870M
6 230M

ABICOVWTRDTEEERROODE. TR LIV,




